Rational Numbers
Exercise 4A

Q1

Answer :

The numbers that are in the form of % where p and q are integers and q #0, are called rational
numbers.

For example:
Five positive rational numbers:

Yes. there is a rational number that is neither positive nor negative, i.e. zero (0).

Q3

Answer :
(i) 1%
Numer:

class24

O 1
(||)_—8
Numera

Denomina

(iii) =22

Numerator = =13
Denominator =15



(iv)=%

Numerator = -8
Denominator = =11

(V)9

e

Numerator = 9
Denominator = 1

Q4

Answer:

()5

The rational number will be %

Numerator = 5
Denominator = 1

(i) -3
The rational number will be _T3

Numerator =-3
Denominator = 1

(iii)1
The rational number will be %

Numerator = 1
Denominator = 1

class24

Denominator = 1

Q5

Answer:

Positive rational numbers:
(i) =5

v F
(vi) 8 because 8 can be written as 2, where 1 # 0.

0 is neither positive nor negative.

Qb6

Answer:

Negalive rational numbers:
(i) =2

) 5

(v) -6

vi) 5

Q7



Answer :

(i) Following are the four rational numbers that are equivalent to -

6x2 6x3 6x4 6x5
11x2 7 11x3 " 11x4 11x5

and

. 12 18 24 30
1.e. RN and 55
(i) Following are the four rational numbers that are equivalent to —=

—3x2 _ax3 _ax4 _3x5
8x2 "3 B AT

Le.

5la
#le
s

—15
and 0

(iii) Following are the four rational numbers that are equivalent to ——.

—15
Tx2 Tx3 Txd Tx56
—Tox3 0 T30 “i5xd and e
(iv) Following are the four rational numbers that are equivalent to 8, i.e. %
8x2  Bx3  Bxd 8x5
1x2 7 1x37 1x4 1x5
. 16 24 32 40
l.e. T 3 1 and 5
(v) Following are the four rational numbers that are equivalent to -1, i.e. %

1x2 1x3 1x4 and 1x5

1x27 Ix3° 1xa 1x5
P 2 3 4 5
ie. 5,3, 3and ¢

(vi) Following are the four rational numbers that are equivalent to -1, i.e. =1

1
—1x2 —1x3 —1xd and —1x5
Ix2 * 1x3 * 1x4 1x5

class24

Lo Ix(-1) g
Wy =2
(i) ;1% - [—_1?)(;?1) - 1%
. 11x(-1) _ -1
R
Q9
Answer :

(i) Numerator of 2 is 5.
5 should be multiplied by 3 to get 15.
Multiplying both the numerator and the denominator by 3:

(i) Numerator of 2 is 5.

5 should be multiplied by —2 to get —10.
Multiplying both the numerator and the denominator by -2:

5x(72) _ —10
gx(-2) 16
5 _ —10

oo|

—16



Q10

Answer :

(i) Denominator of 2 is 7.
7 should be multiplied by 3 to get 21.
Multiplying both the numerator and the denominator by 3:

4x3 _ 12
Tx3
4x3_ 4
x3 7

Denominator of 2 is 7.
7 should be multiplied by -5 to get =35.
Multiplying both the numerator and the denominator by =5:

4x(-5)

Q11
Answer :
(i) Numerator of % is-12.
-12 should be multiplied by 4 to get 48.
Multiplying both the numerator and the denominator by 4:

Q12

Answer:

(i) Denominator of 7+ is 11.

Clearly. 11x2=22

Multiplying both the numerator and the denominator by 2:

—8x2 16
11x2 2
8 _ -1
1m - 2

(if) Denominator of 7+ is 11.
Clearly, 11x5=55
Multiplying both the numerator and the denominator by 5:

~Bx5 __ 40
11x5 = 55
8 _ 4
11~ 55



Answer :

(i) Numerator of 2% is 14.
Clearly. 14x4=56

Multiplying both the numerator and the denominator by 4:
14x4 _ 56
—5x4 20

14_ 56
-5 -2

(i) -70
Numerator of l—"s is 14.

Clearly. 14x(-5)=-70
Multiplying both the numerator and the denominator by -5:

ux(-5) _ @
(o)x(8 >
14__T0

5 25
Q14
Answer :

(1) Denominator of l—: is —8.
Clearly, (-8)x5= -40
Multiplying both the numerator and the denominator by 5:

13x5 65
—Bx5 40
13 _ 65
—8 40

class24

d the denominator by —4:

Q1is

Answer :

(1) Numerator of % is -36.

Clearly, (—36) ~ 4=(-9)
Dividing both the numerator and the denominator by 4:

—36:4 _ -9
24:4 6
(11) Numerator of _T? is —36.
Clearly. (—36) +~(—6)=6
Dividing both the numerator and the denominator by -6:

—s6:(0)
24:(-06)

|
e

=366
24 4

Q1lé



Answer :

(i) Denominator of —24= is -147.
= =147 =(=21)=7

Dividing both the numerator and the denominator by -21:

sa:(-21) 4
—ars(-21) T
84 _ 4
—147 7

(i1)Denominator of == is —147.
—147+3=49
Dividing both the numerator and the denominator by 3:

Q17

Answer :

O

HCF of35and 491s 7.
35)49(1

denominator by 7:

class24

So. ard form

s negative.

Multiplying both the numerator and the denominator by -1:

HCUF of 8 and 3615 4.
Dividing its numerator and denominator by 4:

o
og

4
4

—
9

8

g

.= is equal to = in the standard form.



(i) ==

27)45(1
=27

I8 i27i1

~18

9 ilSiZ
—18

x
HCF of 27and 4515 9.
Dividing its numerator and denominator by 9:

_27:9 _ -3
45:9 5
Hence, Fﬂ is equal to ?3 in the standard form.

(i\r) ‘—1:
The denominator is negative.

Multiplying its numerator and denominator by —1:

4x(-1) 44
10x(-1) 49

14)49 (3
42

7 il4i2
fia

X
HCF of14and 49is 7.

Dividing both the numerator and the denominator by 7.
14:7 _ 2

49:7 T

H.CF.of91and 78 is 13.
Dividing both the numerator and the denominator by 13:
~01:13 _ -7

7813 6

Henoe,”—.:sisequalt.o‘TTinthestandardform.

(v) &

H.C.F. of 68 and 119 is 17.

Dividing both the numerator and the denominator by 17:
68:17
11917

T
Henoe,l—:’:isequalto‘T‘mthestandmﬂform.

—



(vie) %

87)116(1
-87

29j8?i3

'87
x

H.C.F. of 87 and 116 is 29.

Dividing both the numerator and the denominator by 29:

St _ 3
T6:29 4
Hence, —~

¢ is equal to —in the standard form.
1

e\ 200
(‘"j‘) =T
The denominator is negative.
Multiplying both the numerator and denominator by -1-

MX(—I) _ 299
—161x(-1) 161

161)299(1
=161

l38il6lil

~138

23 j138i6

2138

x
H.C.F. of 299 and 161 is 23.
Dividing both the

tor and the denominator by 23:

—Ox4 —36
5x4 20
~9x(-3) _ o7
5x(-3) ~15
_9x5 _ _45
5x6 ~ 25
9 _-3_ 21 _ 45
5 — 20 — 15 25
()]
—Bx3 —18
11x3 33
—6x4 24
11x4 44
6 _ 18 __ -2
11 33 T 44

WV ¢lass24



Answer :

13 39
==

We have:
(-13)%(-21) =273

And 7x39=273

(-13) x (—21) =7x39
13 _ 39

or == = <5

7 —21
Hence, # and %’ are equivalent rational numbers.

3 6
=5, %
We have:

3x16=48
And (-8) x(—6) =48

~ 3%16 =(—8)x(—6)

i B
8 16

(i), 8

We have:

9x(-16)=-144

7x60 =420
And 15x(-28)=—420

~ Tx60 £15%(—28)
Therefore. the rational numbers are not equivalent.



PR
(‘)u’4

We have:

3 x4=12

And 12x(-1)=-12
12£-12

Therefore. the rational numbers are not equivalent.

933
We have:
2x2=4
And 3x3=9

2x24£3%3

Therefore. the rational numbers are not equivalent.

Q20
Answer
o=t
== —y =5x8
==x=—40
@W5=%

3
) § =55
== Sx=3%(-25)

= x= Sx{;ﬁ}

=x =(-15)

O

== 13x=6x(—65)

6x(65)

== = e

== x=6x%(-3)
== x=-30

M2 =-4

_ _ 16
Xy

= x=(-4)




Answer :

(i)_im nnd_l—:l

8x15 =120

And (—10)x(—=12)=120
8x15 =(~10) x(-12)

B E——
)

. B
12

Therefore. the rational numbers are equal.
g

(-3)x(=21) =63
And 7x 9=63

A (F3)x(-21) =7x9

-3 T

) =Ty
Therefore. the rational numbers are equal.

S 8 15
) =3, 5

(-8) x 21 =168
And 15 %(-1

(-8) =

class24

There not equal.

Q22

Answer :

(1) False

For example, -1 1s smaller than zero and 1s a rational number.

(11)True

All integers can be written with the denominator 1.

(111) False

Though 0 is an integer. when the denomunator 1s 0. it 1s not a rational number.
For example. '-1] 1s not a rational number.

(1v)True

(v) False

-1 is a rational number but not a fraction.



Rational Numbers
Exercise 4B

(i)%. This is because 0 can be written as 2 and %(%.

() "

|
(2]

< 0. Thisisbecauseﬂcanbewrittenas% and —3 < 0.
. This is because 5 = 3.

Sl ol

> 2. This is because 7 > 5.

—
E
S—

|= S|~ m|e :r-|
\%

—
-
—
-
=

< . This is because —6 < —5.

ONE
(-3)x(1)
(-8)x(-1)
L.C.M. of 9and 8 is 72.
5x8 _
9x8
3x9
8x9

27 < 40
=<3

3
8

20
72

=&
72

5
SO, )

[ [1o]ro] [

g

e
-]

o
£

it
-]

S

class24
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(if)

4 -8
317
We will convert each negative denominator into positive.
dx-1 _ -4
Ix 1 3

L.C.M. of 3 and 7 is 21.

ax(7) s
@@ 2
(8)x3 94
<3 21
(—24) > (—28)
-8 4
)
So, =* is greater.
(iii)
£,

(5]
-
-]

classZ

We will convert each negative denominator into positive.

4x-1 _ -4

Bx 1§ 2158
L.C.M. of 5 and 8 is 40. 2154
—4x8 _ 32 ii
5x8 40 5151
Tx5 _ 35 T
8x5 10 s
—-32>-35

4 T

T s

() 5

We will convert each negative denominator into positive.

9x-1 _ -9
~13x-1 ~ 13
Tx—1 _ -7
—12x-1 12

L.C.M. of 13 and 12 is 156.

ox12 108
13x(-12) 156
_Txas o
(-12)x13 156
—108 < —91
9 7
<"1k

Q4



Answer :

3. -6
(‘)T"ﬁ

L.C.M. of 7 and 13 is 91.

Ix13 _ -39
<13~ 01
—6x7 __ 42
13x7 91
39 42
ETakd Ty
) P
(h)-_u =5 13]13,91
L.C.M. of 13 and 91 is 91. 71,7
x(7) _ 3 I
Bx(-7) 9 :
(ﬂl) -2> -8
L.C.Mofland5is5.
—2x5 _ 10
x5 &
—13x1 __ 13
5x1 5
—~10 ~13
5 7B
2 5
(v) #<% 2[83
L.C.M. of 8and 3 is 24. 2|43
—2x8 _ 16
8 2023
—5x3 —15
Bx3 24 313
~16 _. 15 N
ETRTY

|3H|=r'f_‘\
® ®|% - <
i e g

o
wle x
=

—8x10

Answer :

Y27 8 13
5?10 15°

L.C.M. of 5, 10, 15 and 30 is 30

=l
2[1236
]

1LLI1

5,10,15,30

1,133



.\ 3 5 7 9

(“)T’_—u-ﬁ'm
First, we need to convert each negative denominator into positive.
—3 5x-1 -7 _9x-1

10 12x 1710’ 24x 1

=3 5 _7 _9

T2’

24121624
2[2,68.12
2[1346
21323
3[1,3,1,3
B IRRE]
L.C.M. of 4, 12, 16 and 24 is 48.

—3x12 _ 36
4x12 48
~5x4 _ 20
12x4 ~ 48
—Tx3 _ 21
16x3 48
—9x2 _ 18
24x2 T 48
. -3 7 5 9
Required order: T<g <<

-3 7 -1 17
(‘“) 5% %0
First, we need to convert the negative denominators to make them positive.
—3 Tx—1 —11  1T=x-1

10 ? Ti6x- 17720 " 30x 1
3 7 11 17

class24

234612

2[1236
3[1.133

IR IRRE

L.C.M of 3,4,6,12 = 12

24 _ 8
3x4 12
33 _ 9
4x3 ~ 12
_5x2 _ 10
o2 12
Tx1 _ -7
12x1 ~ 12
Therefore, the correct order is > < 7 < 2 < 3.

Qb6



Answer :
-2 7 -1 19

(‘ 5T %0

First, we need to convert each negative denominator into positive.
—2 Tx—1 —11 19x -1

' Ti0x 17715 ’ _30x 1

—_7 1 19

»710 2715 * 30

C—

5,10.15,30
1,2,3,6
1,133
1LLL1

5
-2
5
3
2]
3

L.C.M. of 5, 10, 15 and 30 is 30.

—2x6 _ 12
5x6 ~ 30 °
~Tx3 __ 21

10x3 ~ 30 °
—11x2 _ 22
15x2 30 ?
—19x1 __ 19
30x1 ~ 30 ?

Correctorder:‘??‘ >4 7T 5 U

—30 —10 15
s -13 8 1
(1‘) 2553

First, we need to convert each negative denominator into positive.
_9 13 8x-1 1
76 ' 3x 1’3
3
22,38

1,6.3.3

12,11

L.C.M. of 9, 12, 18 and 3 is 36.

—4x4 _ 16
Ox4 ~— 36 ?
5x3 _ 16
12x3 ~ 36 ?
=2 _ 14

18x2 ~ 36 ?
—2x12 _ —

Ix12 T 36



17 11 -7 3
(i") ST W05
First, we need to convert each negative denominator into positive.
17Tx-1 11x-1 7 3
“30x1° _15x1'10°'5
17 11 _7 3
T30 '715 'S

55,10,15,30
2[1236
3[1.13,3
BRERER
L.C.M. of 30, 15, 10 and 5 is 30.

—17x1 _ 17
30x1 ~ 30 °
—11x2 _ 22
15x2 30
~Tx3 _ 21
10x3 ~ 30 °
3Ix6 _ 18
Bx6  30°?

Q8
Answer :
L.C.M. of 2 and 3 is 6.
g 36 _ -1
1x6 6
-2 —12
—2= 1;;0 - Tl

Therefore ,—* , =%, —>,—* and —* are the five rational number between — 3

and — 2.

class24

3 1

= and -
L.C.M. of 5 and 2 is 10.

—3x2  _Bx4 _ _—24x2 48
5x2 T 10x4 = 40x2 = B0 ?
—1x56 _ —Bx4 _ —20x2 40

2x5 10x4 40x2 B0 ?



Rational Numbers

Exercise 4C

Q1

Answer

(1)

12 + 3 1243 _ 15

7 [ R

(ii)

=2 + 1 —2+41 _ -1
5 5 5 5
(i)

3 -1 _ -3
Sx3=3

3,1 341 _2
sts== =%

(iv)

7 1 7
X T

5, 7_ 547 _ 57 12
ata=—m =T =T
(v)

—11

_—mx

——2

=g+

(vi)

-2

T+

(vii)

(-179) , (1) 4711 28
v T =% — 7%
(viil)

5  _1_ _5
SXS=7

3, (8 35 s
Tt T =7 =7
Q2

Answer :

0 +3

The denominators of the given rational numbers are 5 and 4.
L.C.M. of 5 and 4 is 20.



(5 +2
The denominators of the given rational numbers are 9 and 3.

9,3

3
EIEX

1.1

L.CM. of 9and 3is 9.
-5 _ (—S)XI 5

9 —  ox1 9

The denominators of the given rational numbers are 1 and 2.

L.C.M. of 1 and 2is 2.

__4_(—d)x2___3
1 1x2 T 2

1_Ixl _ 1

= class24




-7 5
=t

The denominators of the given rational numbers are 27 and 18.
3127,18

3[96
3132
2012

11
LCM.of 27 and 18 is 54.

2 _ 13 (ze and 36 are divided by 2 .)

We need a positive denominator.

1, -1 _ -1 4 -1 _ -4

S5 Xg=75 ad X 5=

The denominators of the given rational numbers are 9 and 27

loar
X

3|13
BN

L.C.M. of 9 and 27 is 27
-1 _ (—1))(3 _ -3
9 9%3 27
—4 _ —4x1 _ 4

27 27x1 27

-3 —4 3
CONNE



(vii)

9 .

*+(3)

The denominators of the given numbers are 24 and 18

2418

8.6

43

23

1.3

1.1

L.C.M. of 24 and 18 is 72.

(PSR ST e SV

24 24x3 2
1 _ x4 _ 4
18~ 18x4 @2

—27 —4
Now, 7 +(i)
_ —21(4)
T T
_ 274
o T2
_ -3
T2

(viii) 2% + (‘Tls)

We need a positive denominator.

27 -1 _ =2

= S B N

The denominators of the given rational numbers are 4 and 8.

48

class24

Q3
Answer :
(i)
. 7 .
THs+s
L.C.M. of the given rational number is 5.
(-3) (-1)

7
< tsts



11 3,1
(ﬂl) Bt tsz
‘We need a positive denominator.

11 1 11 3 -1 _ -3
BT uand s X178

L.C.M. of the denominators 12, 8 and 4 is 24.

—11x2 —22
12x2 24
~3x3 _ 9
8x3 24
1x6 _ 6
x6 24
(22, (9 ,6
Now, 5+ + =
~22- 916
- 24
_ —3146
Y
]
24

B —16 -5 7
(IV) < + D) + kT3

L.C.M. of the denominators 9, 12 and 18 is 36.

8 and 5 is 40.
2x8 _ 16
5x8 40
Now, (120) + :u + (;:,n}
_ —12045-16
o 40
_ o5
40 40
13 5 1
("‘) S twtT
L.C.M. of the denominator 8, 16 and 4 is 16.
_13x2 _ 26
Bx2 16
5x1 _ 5
16x1 — 16
_ix4 _ 4
ix2 16
(-26) , 5 , (+4)
NOW, =T + kT + =T
20454
o 16
~3045 _ 25
Now, =5~ =6

Q4.

2
B
B
2

B INE
”w
I
=

9,12,18

S
—
E
ey
o

class24

8.16.4
482
241
2.1
LLI

it




8, 2
TS

‘We need a positive denominator.
.2, -1_ -2

T3 XTI T3

Now, L.C.M. of 15 and 3 is 15.
8 _ 8x1 _ -8

15— 15x1 15

2 _ _2x5 _ 10

3~ 3x5 15
8, 10

Now, & + 3

810

15

18

=15

— =0

=75

(i)

7, 13 , 27

ot st%

‘We need a positive denominator.

13, -1_ 13
T AR T T

Now, L.C.M. of 10, 15 and 20 is 60.
LT _Tx6 _ _a»

15 I5x4 00

-1+ 5+ 3
‘We need a positive denominator.
T x1__T
I
Now, L.C.M. of 1, 9 and 12 is 36.
1 _ _1x36 _ 36

T~ "ix36 36
T _Tx4 _ 28

9~ 9x4 36
11 11x3 _ 38
127 12x3 ~ 30

30 28 , 313
3 T T
_ -36-28433
=7 3
_ 64433
]

_31

i g

I I
L
0

—_

5 [10,15,20
2]234
2[132
3[13.
L1

class24
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(iv)

-1 5 2

ER

L.C.M. of 39, 26 and 1 is 78.

39,26

-

2
o+

]

£

|

i

x

=1

I

]

-
[0 ]

| wlee
|
=
|
1)
—
S

—_
=[]
—
=
o
e




Rational Numbers
Exercise 4D

Q1
Answer :

(i) Additive inverse of 5 is -5.

(i) Additive inverse of -91is 9.

LT

3
(iliy Additive inverse of 14

11 11
(iv) Additive inverse of —= is E-

[E _ 15x(—1)
(v) Additive inverse of = Tox( 0
= =I5
T4
_ 15
Y
—1s _ _—18x(-1)

(vi) Additive inverse of

18

(vii) Additive i

(vili)

Q2



Answer :

(3)
%_%=%+ (additiveinverseof %)

L.CM. of 3 and 4 is 12.

%_'_(_%):44-{2—9):_65

(i)

—5) e .
%—T=%+(add1t1vemverseof75)
—1+3
L.C.M. of 3 and 6 is 6.

245
- 7%
7
=%
(i)
(-3 _ (-3) G N
T_(Ta)=T+(a(kht1vemvemeofTa)

(-3) , 8
=5 +t3
L.C.M. of 5 and 9 is 45.

27440
- T %

13
T
(iv)

7

class24

-5 ive inverse of ‘—’)

% (i=%+(additiveinvemeof‘1—is)

(vi)
0 (22) 0.+ (adiive mverse of —2)

=0+
1
(vii)
(-0) (32 _ (9) : =
T_T=T+(&1dﬂit1\re inverse of 1—?)
-6, 32
=35 ts
L.C.M. of 5 and 13 is 65
_ ~TBi160
[

=8
=%



2 _ 5 _ -2 5
_6_T+(addltive inverse of ;)

LCM. of3and9is 9.
6.5

?-%:‘Ts+(additive inverse of %)

L.C.M.of 5and 1is 5.

—
(=

N [
|
el

|
=]
-
S
~—

-
..._Q ]
=2

T
BF

=1 3




L.C.M. of 15 and 20 is 60.

R
9 (9
‘We need a positive denominator.

2 (1) 2

SX() "3




L.C.M. of 14 and 7 is 14.
5+

(viii)

()-()

‘We need a positive denominator.

of 8 and 4 is 8.

11am:l

First we will find the sum of %
36 , 49
TR

L.C.M.

Now, (22
—5 23
=5 t=
L.C.M. of 8 and 22 is 88
55402
T
37
=%
Q5
Answer:

5 4

Tte=75

_ —4_5

=>T=3 7

L.C.M. of 21 and 7 is 21.
4-15

== T=5r

=>z=

=3+ (addltlve inverse of -

[L.C.M.of 8 and 4 is 8]

)

class24



Answer :

Let the other number be z.
3 =
w6 tT=7%
3 3
=FT=F "%
L.C.M. of 8 and 16 is 16.
—6-3
==T="5
Q7
Answer :

Let the other number be z.
_T'r’+z=—3
:>z:—3—(_—;"
=z —21?+15

Hence, the required number is __7&

Q8
Answer :
Let the required number be z.

—5+::=‘T“

== =
=>T
==z
Hence,
Q9
Answer :

Let the required number be x.

-3 _ 5
FTtT=5
_ _s5 (=3
=>zT=5""%
o 10490
=>T= 3
=>:=;—z

Hence, the required number is ;f:.

Q10
Answer :

Let the number that is to be added be x.

-12

T+2=3
(12)
=>z=3-2
=>==%2
=>==%

Hence, the required number is 2?7

Q11

-
H|_

class24



Answer :

Let the number that is to be added be x.

—5 |
7 tT=5
2 (-5)
==T=5 7
L.C.M. of 3 and 7 is 21.
—14415
=>r=—5
1

Q12

Answer :

Let the number that is to be added be x.

2 I
;+z— 1

. o 2
=>z=-1-3
. _ —9-2
=>z=-2
B

9
Hence, the required number is _T" .

Q13

Answer :

Let the required number that is to be added be z.
13 3
(T+?) +r=1

Hence, the required number is %.

Q14

Answer :

Let the required number that is to be subtracted be x.

L.C.M. of 6 and 4 is 12.

1049
== T="5

> _p_ 19
=>-z=]

=> —& x(-l):% x (—1)



Answer :
Let the required number that is to be subtracted be x.
_2_ __5
3 T=%
=z
L.C.M. of 6 and 3 is 6.
=>—z=""
=>-z=-

=)3=%

Q16

Answer:

Let the required number that is to be subtracted be z.

ey e 43
=>-T=—0
_ T
=>-—T=q
= I
>r=—7

class24




Rational Numbers
Exercise 4E

o ae' (3x4)
(ﬁ)zx +,  (1x1) S
(m)lx¥=7x4=2s

'a-l

2

o & (-2x2) 4
(W):le_T_7
(v) We need a positive denominator.
RO LAV R

-3 1 3

49t e’
X

class24




()

3 -+
Ze,
_ 3x1
~ 5x5
_ 3
T 25
(i7)

! -
x
4, -+,
—1x1
6x2
1
12
(i)
Jj_l N _s‘l
8, 26,
1x(-1)
—2x4
S R
8 B8
(iv)
L L
A
=(-3)x(-2)
=6

class24

_ (19)x(-9)
Ix5

2

15



class24




R 2o’ e’
T\ws T e, ok, | 9,

2044

Qs
Answer :
Cost of 1 meter cloth = Rs 40 3
1 1 1
Costof.‘l; meter cloth = Rs (403 x 33)

~Rs (% x;)
) -wivclass24

= 46%]011
Distance coverd in 2% hours = (46% X 2%)
(-l-ﬂ” H')
— X —
& L
= (28 x 4)

=112 km
Hence, the required distance is 112 km.




Rational Numbers
Exercise 4F

Q1

Answer :

(l) Multiplicative inverse of 18 = %
il) Multiplicative inverse of — 16 = ‘ﬁ}
ﬂl) Multiplicative inverse of 42 _ 1_23

iv) Multiplicative inverse of% 12
v) Multiplicative inverse of -3 = 1%
vi) Multiplicative inverse of =% = =2 = 2

vﬁ) Multiplicative inverse of —1 — - — —1

1

vm) Multiplicative inverse of 0 — 1 — infinity

Hence, it does not exist.

class24

=6
5 (1)

—_——

i

B

T

—_—

=

Il
——

I |
i3 =k
—~
X~
$[3 <L

I

rajon o~
~|
X



Q3

Answer :

(1)(.2) s =20
(...?..) = % x —TT
()=

(11) (.7.)+(-3) =2

class24

Letthel'eqlljl‘ednmberbez-
z x () =24

—94: =8
z= 15

et ()

_asx(-1)

N —1x(_1)
— 45

Q7

Answer :

Lettheothermberber.
zx —8=10

=10x_Ls

= -1--(-]-5 x —L
-&4

.. Other _ -5

Q8 1



Answer :

Let the other number be x.
Tz x(—12) =0
=>z=-03+(-12)

—-0x (%)
—

-

+2,

Hence, the other number is %

Q9

Answer :

Let the other number be x.

oe ()

> a= 2 ()
(%)

e

Hence, the other number is ;.

Q11

Answer :

Length of the cloth required to prepare 24 trousers — 54m
Length of the cloth required for each pair of trousers — 54 + 24

9
4

2t

=%=2—1m
Hence, 2 = m length of cloth is required for each pair of trousers.

Q12

Answer :

Length of a rope — 30m
Number of pieces =30 + 33 =30 + 2

4

=239 x L
+5
=8
Hence, the number of pieces would be 8.
Q13
Answer :

Cost of 2] m cloth = Rs 783
Cost of cloth per meter — 783

. 91
123
315 , 5
i T2
445" z
x —
A, -

class24



Rational Numbers
Exercise 4G

Answer :

H.C.F. of 33 and 55 is 11
~33:11 -3
55:11 5

Q2

Answer :

OF

102) 119(1




Answer :

The correct option is (a).
The value of = is — 14.

[ =7L:= ﬁ" =—14]
- s,
Q4
Answer :
The correct option is (c).

2 should be added to > to get 1.
Let the required number be z.

z+ (‘{):1

Q5
Answer:

The correct option is (b).

Let the number that is to be subtracted be z.

F-2-}
e (3)
—>—z=% + %

= —z— (5x2}:2(3x3)
=>z=-

—6x—1

L.C.M. of 6 and 12is 12.

. —5x2 _ 10 “Tx1 _ T
TTex2 12 12x1

1z
Hence, % is smaller than - .

Q7
Answer :
The correct option is (a).
2x-1 _ -2
“3x-1 3
L.C.M. of 3 and 5 is 15.
. —2x5 _ 10 _4x3 _ 12
e — s and ¥ =5

Thus, -2 is greater than —* .

Q8

Answer :

The correct option is (c).
Reciprocal of —6is —-.

Q9

Answer :

The correct option is (b).
3

Multiplicative inverse of _Tz is 5.

acted from ‘73 to

C

get 2.

lass24



Q10

Answer :

The correct option is (a).
1
-25 — 6
==19 _ 6 = =19 —54

Q11

Answer:

The correct option is (c).

-6 L1

3 15
L.C.M. of 13 and 15 is 195.
o _ 1

13 15

90491
T

1
6
Q12
Answer :

The correct option is (b).
-2 +42

-7 23
=3 35

L.C.M. of 5 and 5 is 15.
35 4 69

class24

Q14
Answer :

The correct option is (b).
- is greater than 1.

L.C.M. of 9 and 12 is 36.
=5x3 _ 15
12x3 36
—4x4 _ 10
12x4 36
(~15) > (—16)
5 . 4
=79

Q1is



Answer :
The correct option is (b).
9
(-9
T=-1-"
9 _ 1449
: 14
95
T 1A
Q16
Answer:

1
L.C.M. of 4, 6 and 3 is 12.

_ 15 1448
- 12
23 14
12

class24

Q20

(d) Not defined
This is because - =+ 0 is not defined.



